EIHER L=29. 8m

BI(OOviH) L%‘/J\DJLI _‘
A=2. 6m2 N=1& /7
R Y—+ L=29. 2m 28Ok T

25 Y— k0 ok A6S. n2 N1 FEAERT T X (s=1:50)

J0y oA =29 2m

S=1:250)

@/%/ NO. 145
Z
RER
o
SO e "
A
i _ .
Iy B x*
1% 5
® Kk ® #

Bk (#EH) 22U U— b A=43.2m2

T (ERGER) VY Y— Hm'k

Bz B ‘

XHarovy—+t

- AKBM
A=5. 9n2 H-395. 400m /"5 ck=18N/mm2
#®oovy
350kg/m2 Ll E
39442 Wﬂﬂ‘/7'}—h
HIREE L=29.8n
L%d\iﬂn W -
BI(Tnyoi)  [N=T@Em g =
7 5 (- g A=2. 6m2 avU—+kJI 0y o A65. 9n2 28/ OtT 2 &
At FT T ] (v=1:100, H=1:250) X )— b L=29. 2m N=1 8 2 S
HIT(ERGER)IVIYU—H) EBEa2 90—k 1=29.2m 3 i
A=5. 9m2 B/ OEE) 2> U — b A=43. 2m2 by =
400.00 =
E
— N, t =
o S o
] EARE #BET
C-40 B FEEH () 30cmA4+)
g H@EaLHY— 1 EEaLHU—b
o ck=18N/mm2 o ck=18N/mm2
_ HLavsy—k
o ck=18N/mm2 _
395,00 XIKIRE (VP ¢ 50) (2. 0~3. 0m2I | AT DEIS TRIET 5.
390. 00 A A
AR
— KR
— HE
S | e i
- — — | A
750 -
DL=385. 00
o | ) o
= 3 = H= 2.30m A\ 8
&t B AT R A B o - P <
m/ 1=32. 94m \\m BT
] 8 ? 8
HEARKS g S g 8 6 &
= = S = KE HEF 22 §
ey - © < ~ =
N E 5 5 5 B
s =
- = S 8 8 # 4 B F
o |8 B E 5 5 3
= = £ E BHKEEBIS
AR & 2 2 e S
© « « «© I 9 o ] T A v
[ & | FEE - fteEmE - 2R R
= = = =
B 8 8 E]
B N BB OB s bl < < iz B BB MmETSE
= = — % R x| ] w
B iz} Bt S b ] e
& 5| £ 5 EdhoRn 1
a ° - ~ o S 6 EEET SHWE
bl = s s s
BHREtLt> 2 —BHELEFS




13.80

D:

RER
°

f

a -

B E :

5 i -
Ris | S = it

E=—LNAYR

3.00

As ﬂ
+ke V396, 69 !
>
o
1 v394.48
« B B | & =
w5 e — w5l il —
RIE_(£8) n? 4.3 RIE_(£8) n? 2.3
ER (AL n? 0.02 o ER (AAL) n? 0.02
ERBRML (WER | n? - hod ERBEL (BEH) | n? 11
DL=390. 00 vy y—rREL | n? - E DL=390. 00 avoy—rREL | n? 0.3
HLavou—r | n? 0.1 wLavsu—F |’ 0.1
EEIZIU—F | n 1.31 E®RIZIU—F | 1.30
rER
°
EE
°
A
* o= it
n E K
#i % %
g T * ® i
7 \
2 og i ' '
R T x T sl
eI
6 F =
= BEEE 22 &
NBE
K CEE
& oA s ) OO B oA M7 [wo cam [No.0 ~ No.3]
RiE (£5) n? 3.7 1.4 BRiE (+8) n? 3.2 3.3
ER (AL n? 0.02 0.02 BR (#AL) n? 0.02 0.02 5 w
EREEL BER 0l | 10 B & emaL G wT | oe T A& # F
DL=390. 00 avyyU—hREL [ m? - 1.0 ? DL=390. 00 avyy—FREL [ m? 0.2 0.2
HLavoy—F | n? 0.1 0.1 = #HLavyy—t [ n? 0.1 01 WK EEBRIS
=
ERIZIU—F |0 171 171 ERIZIU—F | 1.48 1.62
- 7 =
& BE A B EETS
# R| 1100 [# @] wm
B 5| £ 5 EFHhDR 2

T 6 FEET SEmR

BHREC S —BHERLIERER




Rigary)—+F Joy o isER 18/hO1T 25/hAILET

$=1:20 $=1:20 $=1:50 $=1:50

0,30 1.28 0,30
380
3 R
% 100 ~
\°
< 3 >
= g 2 o 2 o
2 o o ) |
B g o o
430
0.94
0.98
Xiary)—+t 10n24 Y J0v Yy iR 10m4 Y NOET 1S Y MOET 1R % Y
% i B Hir | % B & W B Hig | & 2 S i B B % & E- Bnoo® B % &
avyy—+ o ck=18N/mm2 m3 0.712 avyy—+ o ck=18N/mm2 m3 0.828 avysy—+r o ck=18N/mm2 m3 0.52 avyy—+ o ck=18N/mm2 m3 0.83
B # INELEREY m2 | 2.118 B #% INEUEE Y m2 | 3.500 B # INELHESEY) m2 4.18 BB N IEY m2 6.32

RHARK (ZEX) EERY -¥HLaY -+

47 1 (] FEE

$=1:50 $=1:20
5
o¥ 1000
‘\Q,m\@y& e8>
D ﬁ'\ % % 325 T 350 T 325
Efga s y— b s
L=1. 65m Eifav o y—k 1=29.2m E
BT (Tnyom g
A=2.6m2 0,30 avsy—rIOysHE A=70.1m2 0130 > <
1.15 13.50 12.20 3.50
o v398. 10 By b
= — a
Y/398.07 o ck=18N/mm2 o ck=18N/mm2 €9, 18/1. 0224 Y
v397.69
bi-b=]
/’ BT EH (3000A5T)
v396. 69 ~
. ¥
395, 56 E o EEYILHU—t m2 Yy &1
v395.58 - N & B ®O® Bl % B
V395, 54 <« o = ® A 30cmAsh m3 | 0.129 6
v395.51 o i «<i BEEE 22 &
5 avy)—+r o ck=18N/mm2 | m3 0.205 Pia—
ol < |~ 2 B
U 355,58 I # 7
3|3 |z
7 v395.33 v395. 35
33 3 BHEXEEBTE
= £ BER - BRR (ZEH)
g iz B BEMBAEETE
v393.23
# R| B = |8 @] w
v393. 27,
- .
DL=392.0 5] 5| £ 5 EhORN 3
JOy o AR 1=20.2n .
S 6 EEET SHWE
BHREtt2—BHFETEHER




FEmBE s=1:100)

0.2
o

5.8
°

Ny ik |
W0, 28n3%R ., ,

35,21
o

AR

&

—.—'-:"«
VAN AW
4

PV NAYAYAVAVAY: 2=

D) — —<

S,

AR vl
LLF%0. 28m3#%

B8R (22 x 1524 x 3048)
N=4%&, A=18. 0m2

ERE ¢ 200 L=44.0m

BE

RERAZZERT X (5=1:100)

REMR
5
A
® o P
5 R K
& 2 Rybky
Fe * T IL7%0. 28m3%R

E=—LnHR

‘ ‘ 3.00

RERE ¢ 200
BEERJIFLVEHEINL)

[

RYIFLUE(ZTN)

BEIR (22 x 1524 x 3048)

fRE&E ¢ 200

KE I s=1:100

BEERJIFLVEHEINL)

w X
KE+DS \" 1‘
s 0o
&1
S mam 22 =
INET
Il & ES
BHXEEETE
B % REEE (5ER)
B B % 25 B T &
# R| B = |# @] w
B 8| &5 Zhom 4
&S] 6 EERT BEE
HSEEt 4 — BB LEED




13.80

D:

92%&
NO. 1 NO. 3

6H=396. 34 6H=398. 01

Fh= roa Fh=
il
it
2
L

E=—LNAYR

3.00

ke V396 69NA

~
o~

1 V304 48

DL=390. 00 E DL=390. 00
NO.0 NO. 2 =g
GH=395. 97 GH=397. 50
Fh= FH=
REH

A

® g i

5 B x

w3 H

e * R * ® Y
‘ | mre—g B
BT
6%l mam 22 =
NET
] Aol o4& BF
DL=390. 00 ? DL=390. 00
< BHKEEBIS

= % REIHENER(3ER)
iz B BHEHBEETS
# R| 100 [# @] wm
5| &5 EFORN 5
SN 6 FERET EmMER
BHREtLt> 2 —BHELEFS




